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QUESTION 1

Body mass index (BMI) is equal to weight in kilograms/ (height in meters) 2. A man who weighs 64.8 kilograms has a
BMI of 20. How tall is he? 

A. 1.8 meters 

B. 0.9 meters 

C. 2.16 meters 

D. 3.24 meters 

E. 1.62 meters 

Correct Answer: A 

 

QUESTION 2

Roger wants to know if he has enough money to purchase several items. He needs three heads of lettuce, which cost
$.99 each, and two boxes of cereal, which cost $3.49 each. He uses the expression (3 $0.99) + (2 x $3.49) to calculate
how much the items will cost. 

Which of the following expressions could also be used? 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

E. Option E 

Correct Answer: A 

 

 

QUESTION 3

Use the table and the information below to answer the question 
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Felipe is planning to get an Internet service in order to have access to the World Wide Web. Two service providers, A
and B, offer different rates as shown below. 

If Felipe plans on using 25 hours of Internet service per month, which of the following statements is true? 

A. Provider A will be cheaper. 

B. Provider B will be cheaper. 

C. The answer cannot be determined from the information given. 

D. The answer cannot be determined but could be if no hours were free. 

E. The providers will cost the same per month. 

Correct Answer: E 

 

 

QUESTION 4

Ron is half as old as Sam, who is three times as old as Ted. The sum of their ages is 55. How old is Ron? 

A. 5 

B. 8 

C. 10 

D. 15 

E. 30 

Correct Answer: D 

 

QUESTION 5

Of the 1,125 teachers in a study of bilingual education, 135 speak fluent Spanish. What percentage of the group of
teachers in the study speaks fluent Spanish? 

A. 12 percent 
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B. 7.3 percent 

C. 8.3 percent 

D. 9.3 percent 

E. 14 percent 

Correct Answer: A 
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